

ΑΣΚΗΣΕΙΣ (26/05/2021).

ΦΥΛΛΑΔΙΟ 4

(12)  $\int_{\gamma} h(z) dz = ?$ ,  $\gamma(t) = e^{it}$ ,  $t \in [0, 2\pi]$

$h(z) = f(z) + g(z)$ ,  $f(z) = \frac{1}{1 - \cos z}$ ,  $g(z) = \bar{z} z^{\frac{12}{3}} \left(\frac{1}{z^3}\right)$

Λύση:

$\int_{\gamma} h = \int_{\gamma} f + \int_{\gamma} g$ .

$\int_{\gamma} f$

Αντικαθιστά σημεία της  $f$ :  $2k\pi$ ,  $k \in \mathbb{Z}$ ,

Μόνο  $0 \in \text{int} \gamma^* \Rightarrow \int_{\gamma} f = 2\pi i \text{Res}(f, 0)$ .

$$f(z) = \frac{1}{1 - \left(1 - \frac{z^2}{2!} + \frac{z^4}{4!} - \dots\right)} = \frac{1}{\frac{z^2}{2!} - \frac{z^4}{4!} + \frac{z^6}{6!} - \dots}$$

$$= \frac{1}{z^2} \cdot \frac{1}{\left[ \frac{1}{2!} - \frac{z^2}{4!} + \frac{z^4}{6!} - \dots \right]} = \frac{\psi(z)}{z^2}, \quad \psi = 1/\varphi$$

$\varphi(z)$

$\varphi$  ορίζεται στο  $\mathbb{D}$  ή  $\varphi(0) = 1/2 \neq 0, \varphi'(0) = 0$

$$\left[ \frac{\varphi^{(n)}(0)}{n!} = \text{συμμετρήσιμο}(z^n) \right]$$

$\Rightarrow 0 = \text{πρώτος δείκτης}$

$\Rightarrow \psi$  ορίζεται στο  $\mathbb{D}$   
πρώτος δείκτης  $\neq 0$

ή  $\psi(0) \neq 0$   
 $\Rightarrow$

$$\Rightarrow \operatorname{Res}(f, 0) = \lim_{z \rightarrow 0} [z^2 f(z)]' = \psi'(0) =$$

$$\underline{\psi = 1/\varphi} - \frac{\varphi'(0)}{(\varphi(0))^2} = 0.$$

$$\text{Ara, } \int_{\gamma} f(z) dz = 2\pi i \cdot 0 = 0.$$

$$g(z) = \overline{z} z^2 \cos\left(\frac{1}{z^3}\right) = \frac{1}{z} z^2 \cos\left(\frac{1}{z^3}\right) = z \cos\left(\frac{1}{z^3}\right),$$

$$\forall z \in \gamma^* (|z|=1).$$

$$\int_{\gamma} g = \int_{\gamma} \theta(z) dz, \quad \theta(z) = z \cos\left(\frac{1}{z^3}\right) =$$

$$= z^{11} \left[ 1 - \left(\frac{1}{z^3}\right)^2 \frac{1}{2!} + \left(\frac{1}{z^3}\right)^4 \cdot \frac{1}{4!} - \left(\frac{1}{z^3}\right)^6 \cdot \frac{1}{6!} + \dots \right]$$

$$= z^{11} \left( 1 - \frac{1}{2! \cdot z^6} + \frac{1}{4! \cdot z^{12}} - \frac{1}{6! \cdot z^{18}} + \dots \right)$$

$$= z^{11} - \frac{1}{2!} z^5 + \left( \frac{1}{4!} \frac{1}{z} \right) - \dots$$

$$\Rightarrow \operatorname{Res}(\theta(z), 0) = 1/4! \Rightarrow \int_{\gamma} \theta(z) dz = \frac{2\pi i}{4!} =$$

$$= \frac{2\pi i}{24} = \left( \frac{\pi i}{12} \right) \cdot \text{Αριθμός σιναύλων} =$$

$$= 0 + \pi i / 12 = \pi i / 12.$$

$$\textcircled{13} I = \int_{\gamma} f(z) dz = ? , \quad \gamma(t) = e^{it}, \quad t \in [0, 2\pi]$$

$$f(z) = (1-z^2)^{1/2}$$

ΛΥΣΗ:

Ανωτότα σηκία:  $0 \in \text{int} \gamma^*$

$$\Rightarrow I = 2\pi i \text{Res}(f, 0).$$

$$f(z) = (1-z^2) \left( 1 + \frac{1}{1!} \frac{1}{z} + \frac{1}{2!} \frac{1}{z^2} + \frac{1}{3!} \frac{1}{z^3} + \frac{1}{4!} \frac{1}{z^4} + \frac{1}{5!} \frac{1}{z^5} + \dots \right)$$

$$= \dots + \frac{1}{z} \left( 1 \cdot \frac{1}{1!} - \frac{1}{3!} \right) + \dots$$

$$\Rightarrow \int_{\gamma} f = 2\pi i \cdot \frac{5}{6} = \underline{5\pi i/3} \quad \text{Res}(f, 0) = 1 - \frac{1}{6} = 5/6$$

14 (ii) Na d.o.  $I = \int_0^{\pi} \frac{\sin^2 t}{a + \cos t} dt = \pi(a - \sqrt{a^2 - 1}), a > 1.$

1724:

$$\int_{\pi}^{2\pi} \frac{\sin^2 t}{a + \cos t} dt \stackrel{x=2\pi-t}{=} \int_{\pi}^0 \frac{\sin^2 x}{a + \cos(2\pi-x)} (-dx)$$

$$= \int_0^{\pi} \frac{\sin^2 x}{a + \cos x} dx = I.$$

$$J = \int_0^{2\pi} \frac{\sin^2 t}{a + \cos t} dt = \int_0^{\pi} + \int_{\pi}^{2\pi} = 2I$$

$$\Rightarrow I = \frac{1}{2} J.$$

$$J = \int_{\gamma} \frac{\left(\frac{z^2-1}{2iz}\right)^2}{a + \frac{z^2+1}{2z}} \frac{dz}{iz} =$$

$$= \int_{\gamma} \frac{\frac{(z^2-1)^2}{-4z^2}}{aiz + \frac{i(z^2+1)}{2}} =$$

$$= -\frac{1}{i} \int_{\gamma} \frac{(z^2-1)^2}{4az^3 + 2z^2(z^2+1)} dz =$$

$$= \frac{i}{2} \int_{\gamma} \left[ \frac{(z^2-1)^2}{z^2(z^2+2az+1)} \right] dz.$$

Poles von  $z^2+2az+1$ :  $f(z)$

$$p_1 = -a + \sqrt{a^2-1} = \rho$$

$$p_2 = 1/\rho$$

$$|\rho| = a - \sqrt{a^2-1} < 1 < \left| \frac{1}{\rho} \right| \Rightarrow \underline{\rho \in \text{int} \gamma^*}, \frac{1}{\rho} \notin \text{int} \gamma^*$$

$$\Rightarrow \int_{\gamma} f(z) dz = 2\pi i [\text{Res}(f, 0) + \text{Res}(f, \rho)].$$



• Res(f, 0)       $f(z) = \frac{A(z)}{B(z)} \cdot \frac{1}{z^2}$ ,

$$A(z) = (z^2 - 1)^2, \quad B(z) = z^2 + 2az + 1$$

$$A(0) = 1, \quad A'(0) = 0, \quad B(0) = 1, \quad B'(0) = 2a$$

$$\text{Res}(f, 0) = \lim_{z \rightarrow 0} [z^2 f(z)]' = \frac{A'(0)B(0) - A(0)B'(0)}{B(0)^2}$$

$$= \boxed{-2a}$$

• Res(f, p)       $f(z) = \frac{\varphi(z)}{B(z)}$ ,       $\varphi(z) = \frac{(z^2 - 1)^2}{z^2}$

$$\text{Res}(f, p) = \frac{\varphi(p)}{B'(p)} = \left(z - \frac{1}{z}\right)^2$$

$$\begin{aligned} \varphi(p) &= \left(p - \frac{1}{p}\right)^2 = (p_1 - p_2)^2 = (p_1 + p_2)^2 - 4p_1p_2 \\ &= (2a)^2 - 4 \cdot 1 = 4(a^2 - 1), \end{aligned}$$

$$B'(p) = 2p + 2a = 2(p + a) = 2\sqrt{a^2 - 1}$$

$$\Rightarrow \operatorname{Res}(f, p) = \frac{4(a^2 - 1)}{2\sqrt{a^2 - 1}} = \boxed{2\sqrt{a^2 - 1}}$$

$$\begin{aligned} \text{Aca: } \int_{\gamma} f(z) dz &= 2\pi i (-2a + 2\sqrt{a^2 - 1}) \\ &= 4\pi i (-a + \sqrt{a^2 - 1}) \end{aligned}$$

$$\begin{aligned} \Rightarrow J &= \frac{i}{2} \int_{\gamma} f(z) dz = 2\pi (a - \sqrt{a^2 - 1}) \\ &\Rightarrow I = J/2 = \underline{\underline{\pi(a - \sqrt{a^2 - 1})}}. \end{aligned}$$

$$\textcircled{15} \text{ (i)} \quad I = \int_{-\infty}^{+\infty} \frac{x^4}{1+x^6} dx = 2\pi/3.$$

1724

$$P(x) = x^4, \quad Q(x) = 1+x^6, \quad Q(x) \neq 0, \quad \forall x \in \mathbb{R}$$

$$\deg Q - \deg P = 2$$

$$f(z) = \frac{z^4}{1+z^6}$$

Poles of  $f$  are  $Q$ :

$$e^{in} = -1, \quad a = e^{in/6} = \frac{\sqrt{3}+i}{2}, \quad i^6 = (i^2)^3 = -1$$

$\{ \pm a, \pm \bar{a}, \pm i \}$  = poles in  $D$

$[a, -\bar{a}, i]$  (excl  $\text{Im } z=0!$ )

$$I = 2\pi i [ \text{Res}(f, a) + \text{Res}(f, -\bar{a}) + \text{Res}(f, i) ]$$

$\forall p \in \{ a, -\bar{a}, i \}$ ,

$$\text{Res}(f, p) = \frac{z^4}{6z^5} \Big|_{z=p} = \frac{1}{6} \frac{1}{p} = \frac{\bar{p}}{6}$$

$$\Rightarrow I = \frac{2\pi i}{6} ( \bar{a} + \overline{(-\bar{a})} + i ) =$$

$$= \frac{\sqrt{3}i}{3} (2 - a - i) = \frac{\sqrt{3}i}{3} (-2i \operatorname{Im} a - i)$$

$$= \frac{\sqrt{3}i}{3} (-i) (2 \operatorname{Im} a + 1)$$

$$= \frac{\sqrt{3}}{3} \left( 2 \cdot \frac{1}{2} + 1 \right) = \frac{2\sqrt{3}}{3}$$